Section—C 2x7=14
(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.
Each question carries 7 marks.
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10. Explain the Compton effect in detail.
HiFTed g9 6! TR 9 FHEmE |

11. Calculate the coefficients of hybrid orbitals of
sp and sp?-hybrid orbitals.
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12. Derive equation for rigid rotator.
Te-Uit b fere s Ffera i
13. What are colligative properties ? Explain.
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Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section—-A 7x1=7
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 1 mark.
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1. (1) What do you mean by Black-Body

Radiation ?
FHftorert fafertor 9 39 =0 9Hsa § 2

(i) Define Zeeman Effect.
Sicieibiclcai it cicalsiy

(ii1) What is Band Spectrum ?
ATS-TRH M E 2

(iv) Explain Stark-Finstein Law.
Leh-3EEEA 99 6l 99emEe|

(v) Define Ideal Solution.
eyt faeram 1 afanfom wifse |

(vi) Write mathematical form of Raoult’s law.
e & from =1 e w9 fafem)

(vii) What is degree of freedom ? Explain it.
AT ] I 4§ ? 3H gHEEy|

Section-B 4x3%=14
(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 3%z marks.
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. What is Van’t Hoff’s factor ? Explain it.
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. Explain the concept of activity and activity

coefficient.
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. What do you wunderstand by process of

phosphorescence ?
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. What is Optical Activity ? Explain it.
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. What is force constant ?
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. Explain Paramagnetism.
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. What is basis of LCAO (Linear Combination of

Atomic Orbital) ?
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. Explain the linear operator.
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